Ne ApTUKYn HanmeHoBaHue Kon
1 Maka M8 6
2 |KC55-10 CoeanHUTENb KapaaHHbIN 1
3 Maiika M8x1 1
4 |KC26-04A Tara 1
5 Maiika M8 5
7 |KC30-05A MNnactnHa 2
“m 8 Bont M8x55 4
\ ‘- 9 bont M6x16 4
T 10 [KC30A-04A KosKyx pemHs 1
| 11 [KC30A-07A OrpaHuuunTenb pemHs 1
12 bont M8x20 2
13 [KC42A-03A Ldednektop B cbope 1
14 |KC55-24 JlonaTtka 1
15 |KC55-15 Lainba 1
16 [KC26-11 BTynka 1
17 |KC26-14 Ban yepBAYHbIN 1
14 151617 1819 18 jKc26-12 ban !
/ 7 é. 19 [KC26-15 BTynka 1
AT N 20 Wrner 2
. 21 [KC26-16 Kpbiwwka 1
22 bont M6x16 3
23 |KC26-10A Pama 1
24 bont M8x16 3
ﬁ 25 Faiika M8 3
L //{\\\ 26 [KC26-17 Haknagka 1
(W (; | 3 27 |KC26-18 MpysknHa 1
\\\\\3@ ;%7 28 Wati6a 2
TS {1 29 [4LxP945 PemeHb 2
30 LWaiba 2
31 |KC30-17 XomyTt 1
32 [KC30A-08 LLainba 2
Moaenb
CHeroy6opLuk ST9071LE
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 1




!

41
®
83

45
46

B
m

/]

45

)

&)

Ne ApTUKYn HanmeHoBaHue Kon
1 |KC30-03C-01R PyyKa npaBan 1
2 |KC30-03-02 MNaHenb 1
3 Maiika M8 10
4 |KC30-03-44R KpoHwTenH

5 bont M8x40

6 bont M6x20

7 |KC21-02-2 BTynka

8 |KC40-28 Ponunk

9 |KCA28-04-03 KpenneHnue

10 Bont M8x45

11 |[KC30-03-49 Tpoc

12 Bont M8x35

13 WrnoT

14 |KC30-03-09 Pbluar

15 Marika M10

16 |KC30-03-2(M4) |PyKoATKa

KC30-03-11GGP

Pbluar ynpasneHusa gedaektopom

PIRPIRPIRPIRPINIRPIRININIRPIRINI[PRIERININI(IFR[PAINININININININ|N|E-

18 Maiika M6
19 [KC30-03-45 Mpy*nHa
20 |[KCA28-04-14 Tara
21 |KCA28-04-04 Pblyar npaBbIn
22 |KC55-03-15 YNnoTHeHWe
23 LLainba
24 BuHT M8%150
25 |KCA28-04-17 Cronop
26 |KC30-03-50 Wrnot
27 |KCA28-04-16 DKCLEHTPUK
28 |KC55-03-11 MpyXKnHa
29 BuHT M8x60
30 |KCA28-04-08 TAra
31 3aknenka
Moaenb
CHeroy6opLuk ST9071LE

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 2




Ne ApTUKYn HanmeHoBaHue Kon
32 |KC90-04-04A PykoATka 2
33 |[KCA28-04-10 Pbluar nesbii 1
34 Maiika M6 2
35 |KC55-03-05-6 BTysika 2
36 [KC30-03-14 MpoBoaa 1
37 |ASW-07D Bbikntouatenb 2
38 |KC30A-05-4 Tpoc ynpasneHua gediekTopom 1
39 |KCD26-06-2 Mpy*KnHa 1
40 |KC30-03-44L KpoHwTenH 1
41 |KC30-03-32 Pyuka noBopoTa aednektopa 1
42 |KC30-03-31 YNnoTHeHue 10
43 |KC30-03-23 ®ukcatop 1
44 |KC30-03C-01L Pyuka nesas 1
45 |KC30-03-22B Ban nosopoTa pednektopa 2
46 BMHT M6x10 2
47 LWaiba 2
48 |KC30-03-24 MnaHkKa 1
49 Bont M6x16 2
50 |KC30-03-26 Kpbiwka 1
I 51 laiika M6 2
4] 52 |KC21-03-15 dapa 1
& 53 BuHT ST3.5x16-F 2
Q 43
; @
® . o
é ® %
) 4
b 48
49
/I// 51®
45
Moaenb
CHeroy6opLuk ST9071LE
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 3




Ne ApTUKYn HanmeHoBaHue Kon
1 Bont M10x25 2
2 |KC90-02-21A Pyuka 1
3 |KC55-02-25A MNnactnHa 2
4 Bont M10x45 2
5 bont M6x12 8
6 |KC30A-02-30 Ocb 2
7 |KC30A-02-01 3arnyuwka 2
8 Bont M6x20 1
9 |KC21-02-02 BTynka 1
10 |[KCM24-02C-19 |KpoHLWwTenH 1
11 bont M6x16 8
12 |KC21-02C-01 Tpoc 1
13 [KC40-28 Ponuk 1
14 Maiika M6 1
15 bont M8x20 4
16 [KC30A-02-02 KpoHwTenH 1
17 |[KC21-02C-03 MnactnHa 1
18 bont M8x40 4
19 Malika M8 4
20 [suratens G210FDS 1
21 |3LXP820 PemeHb 1
22 |KC30A-02-03 Wkwme 1 1
23 |KC90-02-16 LWKkue 2 1
24 LWalba 1
25 bont 1
26 |KC30A-02-04A  |Kopnyc 1
27 Bont M6x20 2
28 |KC30A-02-32 HaKoOHeYHMK 1
29 |KC90-02-07 BTy/Ka nnactmkoBas 2
30 |KC55-02-05 TAra 1
31 bont M6x16 13
Moaenb
CHeroy6opLuk ST9071LE

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

| Page 4




Ne ApTUKYn HanmeHoBaHue Kon
32 |KC30A-02-05 Kopnyc nogwmnHumka 2
33 |90-0415 MogwunnHmk 6200 4
34 KonbLo ctonopHoe 1
35 |[KC21-02-13 MoAWwunnHUK B Kopnyce 1
36 |KC21-02-12 [ep»atenb AnUCKa 1
37 |KC55-02-15-2 JNCK GPUKUMOHHbIN 1
38 |KC30A-02-06 BTysika 1
39 |KC30A-02-07 LLlectepHAa manas 1
40 |KC30A-02-9 Ban wecturpaHHbIn 1
41 [KC30A-02-11 3Be3go0uKa 1
42 |KC30A-02-12 BTynka 1
43 |[KC30A-02-10-2 |Ban npomerKyTOYHbIN 1
44 |[KC30A-02-10-1 |3Be3po0uka 1
45 Lenb 1
Moaenb
CHeroy6opLuk ST9071LE

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

| Page 5




Ne ApTUKYn HanmeHoBaHue Kon
46 Koneco 16" 2
47 Bont M8x16 4
48 |KC90-02-11 Kopnyc noawmnHuka 2
49 Maka M8 6
50 [90-0460 MogwmnnHmk 6205 2
51 |KC30A-02-14 BTysKa 1
52 |KC30B-02-02A |lWecTepHAa Beaywas 1
53 |KC90-03-07 3axkum 2
54 |KC30B-02-03 Ban segywmi 1
55 LWnoHKa 2
56 LLinoHKa 1
57 Wrnot 2
58 |KC30A-02-21 BTynka 2
59 bont M8x30 1
60 [KC55-02-21 Ponuk 1
61 |KC30A-02A-4 KpoHwTenH 1
62 Bont M8x50 1
63 [KC30A-02A-5 KpoHLwTenH 1
64 |KC55-01-24 BTynka 1
65 |KC55-01-27 Ponnk 1
66 |KC55-01-26 LLainba 1
67 |KC30A-02-31 HaKoHe4YHUK 1
68 LLainba 1
69 LWanba 1
70 [KC21-02C-09 dukcatop 1
71 |[KC90-02-15 MpyXKnHa 1
72 |KC30A-02-23 KpOHLWTENH NPUKNMMHOM 1
73 |KC30A-02-24 BTynka 1
74 bont M8x16 2
75 Manka M12 1
76 |KC21-02C-12 MpyxuHa 1
Moaenb
CHeroy6opLuk ST9071LE

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 6




Ne ApTUKYn HanmeHoBaHue Kon
77 3aknenka 2
78 |KC30A-02-25 MnactnHa 1
79 |KC21-02C-13 LWkume 1
80 Bont M6x20 3
81 |KC90-02-12 Kopnyc noawmnHumka 2
82 [90-0430 MoagwmnnHmk 6002 2
83 |KC30A-02-27 KpoHwTenH 1
84 Wrnot 1
85 |KC21-02C-17 MpyXKnHa 1
86 |KC90-02-31 Ocb 1
87 |KC30A-02-26A  |KpblwKa 1
Moaenb
CHeroy6opLuk ST9071LE
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 7




ApTUKYn HanmeHoBaHue Kon

KCA28-01-01A  |fdeka 1
KC42-01-02 Haknagka 2
LWaiba 6
Malika M8 19
KCA34-01-10 MNonosok
Maiika M8
bont M8x16
KC30-01-02A MnacTnuHa AeKn HUXKHAA
laka M8
KC42-01-05A Kopnyc noglwmnHmka
SB205 MogwnnHuk SB205
KC42-01-04A Kopnyc nogwmnHmka
bont M8x18

KCA28-01-02A  |lLlHek npaBbli

KCA34-01-25 BTynka coegmHuTenobHas

KCA34-01-02A-06 |BTynka

Bont M8x45

KCA34-01-05 PeaykTtop

laka M6

LWanba

KCA34-01-06A  |KpblabyaTtka

bont M6x40

Bonat M6x30

KCA34-01-07R  |KpOHLITEH NpaBbIi

KCA34-01-07L  |KpOHLWTEelH neBbIn

KCA28-01-03A LLIHeK neBbI

RINISAININIRP|IRPIRPININIR|IPIORINIERINI(P[O(NININ[O[FR||O|N

LWanba

bont M8x20

bont M8x25

BUHT ST4.2x9.5-F

KC55-01-21 [epatesib nonaTkm
Moaenb
CHeroybopLymk
yoopt ST9071LE
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA | Page 8




Ne ApTUKYn HanmeHoBaHue Kon
35 |KC42-01-20 Kopnyc nogwmnHumka 2
36 |SB204 MogwwnnHuk SB204 1
37 |KC42-01-22 LWkume 1
38 LWanba 1
39 Bont M10x25 1
40 LLinoHKa 1
41 (KCA34-01-14 LWanba 3
42 |[KCA34-01-15 Konbuo 1
43 |KCA34-01-16 Konbuo 3ybyatoe 1
44 |KCA34-01-17 Kpbiwkal 1
45 |[KCA34-01-18 Kpblwka2 1
46 Bont M8x25 3
47 |KCA34-01-19 Konbuo ynaoTHUTEeNbHOE 1
48 |[KCA34-01-09 LWaiba 2
54 |KCA26-01-05 Ban 1
Moaenb
CHeroy6opLuk ST9071LE

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 9




Ne ApTUKYn HanmeHoBaHue Kon
1 [KCA34-01-05-01 |Kopnyc peayKkTopa npasbiii 1
2 Bont M10x15 1
3 CanbHuK 25x40x7 2
4 [90-0460 MogwnnHuk 6205 2
5 |KCA28-01-22 Ban 1
6 [90-0404 MogwnnHmk 6202 1
7 |KCA34-01-05-03 |[Mpoknagka pegykTopa 1
8 |KCA34-01-05-04 |LLectepHa pegyKTopa 1
9 LWnoHKa 1
10 |KCA34-01-05-05 |Kopnyc peayKtopa neBblii 1
11 bont M6x25 6
12 |KCA34-01-05-06 |Ban yepBA4HbIN 1
13 |[KCA34-01-05-07 |Btynka 1
14 |BE-51104 MNogwunHuk 51104 1
15 [90-0419 MoawnnHmk 6004 1
16 CanbHuK 20x35x7 1
17 |[KC42A-03A-1A |Kopnyc 1
18 [KC55-03-17 MpyXKnHa 1
19 LWalba 1
20 |[KC30A-05-2 MpyXKnHa 1
21 |KC30A-05-4A Tpoc 1
22 XomyT 1
23 |KC30A-05-3 Tara 1
24 |KC42A-03-2A MNpoKknaaKa 1
29 |[KC42A-03-3 Kosbipek 1
30 |KC21-23 LWarba 1
31 |[KC42A-03-4 PeweTKa 3aWwmTHaA 1
32 |KC55-26 LWarba 1
33 WnanHT 1
Moaenb
CHeroy6opLuk ST9071LE
Technical department Assembly drawing
33 32 31 30 Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA | Page 10




